§1.172-6

(ii) X designated $50,000 of the $120,000 of
dividends paid as capital gains dividends (as
defined in section 857(b)(3)(C) and §1.857-6(e)).
Thus, $70,000 is an ordinary dividend. Since
both ordinary dividends and capital gains
dividends are taken into account in com-
puting the deduction for dividends paid
under section 857(b)(2)(B), the result will be
the same as in Example (1); that is, the por-
tion of the 1977 net operating loss available
as a carryover to 1979 and subsequent years
is $70,000.

(b) [Reserved]

[T.D. 6500, 256 FR 11402, Nov. 26, 1960, as
amended by T.D. 6862, 30 FR 14428, Nov. 18,
1965; T.D. 6900, 31 FR 14641, Nov. 17, 1966; T.D.
7767, 46 FR 11263, Feb. 6, 1981; T.D. 8107, 51 FR
43346, Dec. 2, 1986]

§1.172-6 Illustration of net operating
loss carrybacks and carryovers.

The application of §1.172-4 may be il-
lustrated by the following example:

(a) Facts. The books of the taxpayer,
whose return is made on the basis of
the calendar year, reveal the following
facts:

Taxable
income

Net oper-

Taxable year ating loss

$15,000
30,000

20,000

The taxable income thus shown is com-
puted without any net operating loss
deduction. The assumption is also
made that none of the other modifica-
tions prescribed in §1.172-5 apply.
There are no net operating losses for
1950, 1951, 1952, 1953, 1964, 1965, or 1966.

(b) Loss sustained in 1956. The por-
tions of the $75,000 net operating loss
for 1956 which shall be used as
carrybacks to 1954 and 1955 and as
carryovers to 1957, 1958, 1959, 1960, and
1961 are computed as follows:

(1) Carryback to 1954. The carryback
to this year is $75,000, that is, the
amount of the net operating loss.

(2) Carryback to 1955. The carryback
to this year is $60,000, computed as fol-
lows:

Net operating 10SsS ........c.ccooiiciniiiciiiicccce $75,000
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Less:
Taxable income for 1954 (computed without
the deduction of the carryback from 1956) 15,000

Carryback ..o 60,000

(3) Carryover to 1957. The carryover to
this year is $30,000, computed as fol-
lows:

Net operating 10SS ........cccvevveverennenns
Less:

Taxable income for 1954 (com-
puted without the deduction of
the carryback from 1956) ........

Taxable income for 1955 (com-
puted without the deduction of
the carryback from 1956 or the
carryback from 1958) ..

............... $75,000

$15,000

30,000

45,000

Carryover ......cccoeveeeeeenn. 30,000

(4) Carryover to 1958. The carryover to
this year is $10,000, computed as fol-
lows:

Net operating 10SS ........ccccceevvirrennne.
Less:

Taxable income for 1954 (com-
puted without the deduction of
the carryback from 1956) ........

Taxable income for 1955 (com-
puted without the deduction of
the carryback from 1956 or the
carryback from 1958) ..............

Taxable income for 1957 (com-
puted without the deduction of
the carryover from 1956 or the
carryback from 1958) ..

................ $75,000

$15,000

30,000

65,000

Carryover ......cccoeveeeeeenn. 10,000

(5) Carryover to 1959. The carryover to
this year is $10,000, computed as fol-
lows:

Net operating 10SS .........cccccevvicurinnnne.
Less:

Taxable income for 1954 (com-
puted without the deduction of
the carryback from 1956) ........

Taxable income for 1955 (com-
puted without the deduction of
the carryback from 1956 or the
carryback from 1958) ..............

Taxable income for 1957 (com-
puted without the deduction of
the carryover from 1956 or the
carryback from 1958) ..............

Taxable income for 1958 (a year
in which a net operating loss
was sustained) .........cccecereeenn. 0

$75,000

$15,000

30,000

20,000

65,000

................ 10,000

Carryover .......cccooevviniennnn,

(6) Carryover to 1960. The carryover to
this year is $0, computed as follows:
Net operating 10SS ..........ccccoviiennnns $75,000
Less:
Taxable income for 1954 (com-
puted without the deduction of
the carryback from 1956) ........

182



Internal Revenue Service, Treasury

Taxable income for 1955 (com-
puted without the deduction of
the carryback from 1956 or the

carryback from 1958) .............. 30,000
Taxable income for 1957 (com-

puted without the deduction of

the carryover from 1956 or the

carryback from 1958) .............. 20,000

Taxable income for 1958 (a year

in which a net operating loss

was sustained) ........ccccoceeeennn. 0
Taxable income for 1959 (com-

puted without the deduction of

the carryover from 1956 or the

carryover from 1958) ... . 30,000

95,000

Carryover . 0

(T Carryover to 1961. The carryover to
this year is $0, computed as follows:

Net operating l0SS .......ccccoooveeieueueuenns $75,000
Less:

Taxable income for 1954 (com-
puted without the deduction of
the carryback from 1956) ........

Taxable income for 1955 (com-
puted without the deduction of
the carryback from 1956 or the
carryback from 1958) ..............

Taxable income for 1957 (com-
puted without the deduction of
the carryover from 1956 or the
carryback from 1958) ..............

Taxable income for 1958 (a year
in which a net operating loss
was sustained) ........ccccocereeenn 0

Taxable income for 1959 (com-
puted without the deduction of
the carryover from 1956 or the
carryover from 1958) ..............

Taxable income for 1960 (com-
puted without the deduction of
the carryover from 1956 or the
carryover from 1958) ..............

$15,000

30,000

20,000

30,000

35,000
130,000

CaITYOVEr ...ooviiiiiiiiciiiiies v 0

(c) Loss sustained in 1958. The portions
of the $150,000 net operating loss for
1958 which shall be used as carrybacks
to 1955, 1956, and 1957 and as carryovers
to 1959, 1960, 1961, 1962, and 1963 are
computed as follows:

(1) Carryback to 1955. The carryback
to this year is $150,000, that is, the
amount of the net operating loss.

(2) Carryback to 1956. The carryback
to this year is $150,000, computed as fol-
lows:

Net operating 10Ss ..........cccouiiiiciiiciiiiccce $150,000
Less:

Taxable income for 1955 (the $30,000 tax-
able income for such year reduced by the
carryback to such year of $60,000 from
1956, the carryback from 1958 to 1955 not

being taken into account) ............c.ccoeeeene 0

Carryback .......ocooveiiiiiiiec 150,000
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(3) Carryback to 1957. The carryback
to this year is $150,000, computed as fol-
lows:

Net operating loss
Less:
Taxable income for 1955 (the
$30,000 taxable income for
such year reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955

not being taken into account) 0
Taxable income for 1956 (a year
in which a net operating loss

was sustained) ........ccccoeerieenn 0

$150,000

0

Carryback .......cccoceeviennnnn. 150,000

(4) Carryover to 1959. The carryover to
this year is $150,000, computed as fol-
lows:

$150,000

Net operating l0SS .........cccovvvniiiiiiins v,
Less:

Taxable income for 1955 (the
$30,000 taxable income for
such vyear reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955

not being taken into account) 0
Taxable income for 1956 (a year
in which a net operating loss

was sustained) ..........c.ceene 0
Taxable income for 1957 (the
$20,000 taxable income for
such year reduced by the car-
ryover to such year of $30,000
from 1956, the carryback from
1958 to 1957 not being taken

into account) ........ccccceeeeiinnns 0

0

Carryover ......cccooeeeeerennnnn. 150,000

(5) Carryover to 1960. The carryover to
this year is $130,000, computed as fol-
lows:

Net operating 10SS ........ccceeveerrrcnnnne.
Less:

Taxable income for 1955 (the
$30,000 taxable income for
such vyear reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955
not being taken into account) 0

Taxable income for 1956 (a year
in which a net operating loss
was sustained) ........cccccrenne 0

Taxable income for 1957 (the
$20,000 taxable income for
such year reduced by the car-
ryover to such year of $30,000
from 1956, the carryback from
1958 to 1957 not being taken
iNto account) ......cccccevevernnns 0

$150,000

183



§1.172-6

Taxable income for 1959 (the
$30,000 taxable income for
such year reduced by the car-
ryover to such year of $10,000
from 1956, the carryover from
1958 to 1959 not being taken
into account) ... $20,000
20,000

CaITYOVET ..o e 130,000

(6) Carryover to 1961. The carryover to
this year is $95,000, computed as fol-
lows:

Net operating l0SS .......ccccoevevinnvnieiees eeeeeeieeeens $150,000
Less:
Taxable income for 1955 (the
$30,000 taxable income for
such year reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955
not being taken into account) 0
Taxable income for 1956 (a year
in which a net operating loss
was sustained) ..........c.coeee 0
Taxable income for 1957 (the
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Taxable income for 1959 (the
$30,000 taxable income for
such year reduced by the car-
ryover to such year of $10,000
from 1956, the carryover from
1958 to 1959 not being taken
iNto account) ......c.ccoceveevernnns

Taxable income for 1960 (the
$35,000 taxable income for
such year reduced by the car-
ryover to such year of $0 from
1956, the carryover from 1958
to 1960 not being taken into
ACCOUNL) ..

Taxable income for 1961 (the
$75,000 taxable income for
such year reduced by the car-
ryover to such year of $0 from
1956, the carryover from 1958
to 1961 not being taken into
ACCOUNE) v

Carryover ......ccccoeeeeernennn.

$20,000 taxable income for Net operating 10SS ..........cccccoviiicnnnne
such year reduced by the car- Less:

ryover to such year of $30,000

from 1956, the carryback from

1958 to 1957 not being taken

into account) ... . 0
Taxable income for 1959 (the

$30,000 taxable income for

such year reduced by the car-

ryover to such year of $10,000

from 1956, the carryover from

1958 to 1959 not being taken

into account) ...
Taxable income for 1960 (the

$35,000 taxable income for

such year reduced by the car-

ryover to such year of $0 from

1956, the carryover from 1958

to 1960 not being taken into

account) ...

$20,000

35,000
55,000

Carryover . 95,000

(7) Carryover to 1962. The carryover to
this year is $20,000, computed as fol-
lows:

Net operating l0Ss .........ccccccvviviiiiiiies v $150,000
Less:
Taxable income for 1955 (the
$30,000 taxable income for
such vyear reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955
not being taken into account) 0
Taxable income for 1956 (a year
in which a net operating loss
was sustained) ........ccccoeereeenne 0
Taxable income for 1957 (the
$20,000 taxable income for
such year reduced by the car-
ryover to such year of $30,000
from 1956, the carryback from
1958 to 1957 not being taken
into account) ........cccceeeenennn. 0
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Taxable income for 1955 (the
$30,000 taxable income for
such year reduced by the
carryback to such year of
$60,000 from 1956, the
carryback from 1958 to 1955
not being taken into account)

Taxable income for 1956 (a year
in which a net operating loss
was sustained) ...

Taxable income for 1957 (the
$20,000 taxable income for
such year reduced by the car-
ryover to such year of $30,000
from 1956, the carryback from
1958 to 1957 not being taken
iNto account) ........ccoceeevernnns

Taxable income for 1959 (the
$30,000 taxable income for
such year reduced by the car-
ryover to such year of $10,000
from 1956, the carryover from
1958 to 1959 not being taken
into account) ...

Taxable income for 1960 (the
$35,000 taxable income for
such year reduced by the car-
ryover to such year of $0 from
1956, the carryover from 1958
to 1960 not being taken into
ACCOUNE) e

Taxable income for 1961 (the
$75,000 taxable income for
such year reduced by the car-
ryover to such year of $0 from
1956, the carryover from 1958
to 1961 not being taken into
ACCOUNE) eoveviiiciiiciieieee

Taxable income for 1962 (com-
puted without the deduction of
the carryover from 1958) ........

Carryover .......cccoevvvriennnn,

$20,000

35,000

$20,000

35,000

75,000

17,000

130,000

20,000

(8) Carryover to 1963. The carryover to
this year is $3,000, computed as follows:

$150,000

147,000

3,000
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(d) Determination of net operating loss
deduction for each year. The carryovers
and carrybacks computed under para-
graphs (b) and (c) of this section are

§1.172-7

used as a basis for the computation of
the net operating loss deduction in the
following manner:

Carryover Carryback Net op-

eratin,
Taxable year From From From From loss dg-

1956 1958 1956 1958 duction
1954 ... $0 $0 | $75,000 $0 | $75,000
1955 ... 0 0 60,000 | 150,000 | 210,000
1957 ... 30,000 0 0| 150,000 | 180,000
1959 ... 10,000 | 150,000 0 0| 160,000
1960 ... 0| 130,000 0 0| 130,000
1961 ... 0 95,000 0 0 95,000
1962 it 0| 20,000 0 0 20,000
1963 s 0 3,000 0 0 3,000

§1.172-7 Joint return by husband and
wife.

(a) In general. This section prescribes
additional rules for computing the net
operating loss carrybacks and
carryovers of a husband and wife mak-
ing a joint return for one or more of
the taxable years involved in the com-
putation of the net operating loss de-
duction.

(b) From separate to joint return. If a
husband and wife, making a joint re-
turn for any taxable year, did not
make a joint return for any of the tax-
able years involved in the computation
of a net operating loss carryover or a
net operating loss carryback to the
taxable year for which the joint return
is made, such separate net operating
loss carryover or separate net oper-
ating loss carryback is a joint net oper-
ating loss carryover or joint net oper-
ating loss carryback to such taxable
year.

(c) Continuous use of joint return. If a
husband and wife making a joint re-
turn for a taxable year made a joint re-
turn for each of the taxable years in-
volved in the computation of a net op-
erating loss carryover or net operating
loss carryback to such taxable year,
the joint net operating loss carryover
or joint net operating loss carryback to
such taxable year is computed in the
same manner as the net operating loss
carryover or net operating loss
carryback of an individual under
§1.172-4 but upon the basis of the joint
net operating losses and the combined
taxable income of both spouses.

(d) From joint to separate return. If a
husband and wife making separate re-

turns for a taxable year made a joint
return for any, or all, of the taxable
years involved in the computation of a
net operating loss carryover or net op-
erating loss carryback to such taxable
year, the separate net operating loss
carryover or separate net operating
loss carryback of each spouse to the
taxable year is computed in the man-
ner set forth in §1.172-4 but with the
following modifications:

(1) Net operating loss. The net oper-
ating loss of each spouse for a taxable
year for which a joint return was made
shall be deemed to be that portion of
the joint net operating loss (computed
in accordance with paragraph (d) of
§1.172-3) which is attributable to the
gross income and deductions of such
spouse, gross income and deductions
being taken into account to the same
extent that they are taken into ac-
count in computing the joint net oper-
ating loss.

(2) Taxable income to be subtracted—(i)
Net operating loss of other spouse. The
taxable income of a particular spouse
for any taxable year which is sub-
tracted from the net operating loss of
such spouse for another taxable year in
order to determine the amount of such
loss which may be carried back or car-
ried over to still another taxable year
is deemed to be, in a case in which such
taxable income was reported in a joint
return, the sum of the following:

(a) That portion of the combined tax-
able income of both spouses for such
yvear for which the joint return was
made which is attributable to the gross
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